Was it an ACCIDENT or INCIDENT? - ENRICH your ENGLISH VOCABULARY
0:00:00.589,0:00:10.860

hi I'm in a queue on the motorway because

there's been an accident now what's the
0:00:10.860,0:00:19.320

difference between accident and incident

it is Susan Brodar from SPEAK Languages
0:00:19.320,0:00:24.090

and TRAVEL the World here to help you

improve your English with minimum effort
0:00:24.090,0:00:35.130

a maximum benefit and if you are if you

speak a language of Latin origin it
0:00:35.130,0:00:40.980

might confuse these two words because

they are apparently figured with
0:00:40.980,0:00:48.289

absolutely different in meaning so an

accident is when something happens
0:00:48.289,0:00:56.449

unexpectedly but it always has negative

consequences so if two cars crash
0:00:56.449,0:01:02.399

probably this is what's happened today

there's been an accident and we hope
0:01:02.399,0:01:10.350

nobody got hurt but in any case there

must be some damage to the car or if you
0:01:10.350,0:01:18.119

are at the table and you accidentally

knocked a glass over and spill all the
0:01:18.119,0:01:24.780

liquid that was an accident you did it

by accident and the negative consequence
0:01:24.780,0:01:33.119

is that he lost all the wine or whatever

was in the glass and maybe also got wet
0:01:33.119,0:01:39.479

to make the tablecloth wet or maybe even

made somebody the best dress all dirty
0:01:39.479,0:01:46.820

and so those are all accidents things

which happen unexpectedly with negative
0:01:46.820,0:01:56.490

consequences instead an incident is an

event which occurs usually unexpectedly
0:01:56.490,0:02:05.740

- but not necessarily negative with

with a negative consequence so you could
0:02:05.740,0:02:13.340

explain something which happened on your

trip for example and this is an incident
0:02:13.340,0:02:20.720

the time you met your best friend

unexpectedly in the town you will be
0:02:20.720,0:02:27.440

sitting you tell this story and it is an

incident something which occurred in
0:02:27.440,0:02:35.180

your life so incidents are not at all

negative and they are things which
0:02:35.180,0:02:43.300

happen whilst accidents are things which

happen with a negative consequence and
0:02:43.300,0:02:51.340

so very many people tell stories of

incidents which happened in their lives
0:02:51.340,0:02:58.610

and we hope they tell if you lower sorry

and then and we hope they tell a few
0:02:58.610,0:03:06.640

less regarding accidents okay so don't

forget accident is something negative
0:03:06.640,0:03:15.860

incident isn't and I hope found this

useful don't forget to subscribe here ok
0:03:15.860,0:03:20.440

I that's all for now bye
